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[D] 16. Taiwan has become an aging society partly because of ___ birthrates.

(A) increasing (B) going up (C) rising (D) declining
[B] 17. People who want to get a job with TPC need to take a(n) ___test.
(A) enter (B) recruitment (C) examination (D) intelligence
[A] 18. Marie doesn’t like tourist attractions because they are always ___ with people.
(A) crowded (B) squeezed (C) full (D) fill
[C] 19. Such information is not open to the public, but you can find itonthe
(A) Internet (B) official website  (C) intranet (D) government website
[A] 20. It’s difficult to see a dentist without a(n) ____in Taiwan these days.
(A) appointment (B) date (C) deal (D) schedule
[C] 21. Jean is not good at ___ her money; she always runs out of money at the end of the month.
(A) spending (B) inventing (C) managing (D) calculating
[C] 22. Motorcycles need regular ___, such as change of engine oil, etc.
(A) repairs (B) insurance (C) maintenance (D) supply
[D] 23. After buying all you need in a supermarket, you pay at the ___ counter.
(A) check-in (B) calculating (C) money (D) checkout
[B] 24. It is better late than ___. It’s not too late to say you are sorry.
(A) early (B) never (C) delay (D) in time
[A] 25. The Harry Potter series are among the most ___ movies in history.
(A) profitable (B) money (C) financial (D) economical
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[C] 26. The manager asked meto __ atable at Golden Thai for lunch tomorrow.

(A) make (B) preserve (C) book (D) manage
[B] 27. As people care only about their electronic ___, reading is a dying habit.
(A) facilities (B) devices (C) equipments (D) pieces
[A] 28. When buying furniture from IKEA, follow ___to put it together.
(A) the instructions  (B) the orders (C) the stages (D) the stairs
[D] 29. In the job market, having a skill can be more ___ than having good grades.
(A) favor (B) better (C) advantage (D) valuable
[B] 30. To get adriving license, you have to take a____ and pass it first.
(A) writing test (B) written test (C) text test (D) pen test
[C] 31.1don’tmeanto |, but I didn’t quite understand what you just said.
(A) stop (B) break up (C) interrupt (D) interfere
[D] 32. If you make a(n) ___ and don’t keep it, you are a liar.
(A) answer (B) suggestion (C) bargain (D) promise
[A] 33. We all chipped in to buy the coffee machine in the office. Chipped in means ____
(A) put in money (B) put in a chip
(C) used a cell phone chip (D) damaged
[A] 34. When people finish eating in a restaurant, they ask the waiter for the .
(A) check (B) money (C) pay (D) paper
[D] 35. Doug was finally let go as a result of calling in sick two, three times a week. So he was
(A) approved to leave. (B) left his job. (C) not stopped. (D) fired from work.
[B] 36. Don’t be mad. Tom didn’t answer the phone because he ___a meeting.
(A) had in (B) was in (C)in (D) was attended
[B] 37.Besides __, today we can also use smartphones to go online.
(A) use computers (B) using computers  (C) though computers (D) on computers
[A] 38. Don can’t live without his smartphone because he has to be _ 24hrs a day.
(A) on call (B) on duty (C) in demand (D) in preparation
[B] 39. John is from Kaohsiung and he goes back to see his parents .
(A) two weeks (B) every two weeks  (C) one two weeks (D) two weeks at a time
[C] 40. Last night, Mike had trouble falling asleep although he knew he __ get up early for the job interview.
(A) must (B) has to (C) had to (D) must to
[C] 41. By the time Jason retires in April, he ___in the company for 30 years.
(A) will work (B) has worked (C) will have worked (D) will be working
[B] 42. The new Tom Cruise movie is ___; itis full of action.

(A) worth to watch (B) worth watching  (C) value to watch (D) value watching

[D] 43. Terry will retire this month and we have been _ a going-away party all week.

(A) busy to have (B) busy to prepare (C) busy having (D) busy preparing
[A] 44.1f you need to ___, apply for the approval of your supervisor.

(A) take a day off (B) go for a day (C) leave a day (D) away one day

[C] 45. There will be a ___ soon and everyone is making plans.
(A) four days holiday (B) four holidays (C) four-day holiday (D) four-days holiday

[B] 46. Leaving children under 12 years old at home ____is not legal.
(A) by their own (B) by themselves (C) to their own (D) on themselves
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[C] 47. Either 1 or he ___ for the mistake, but we can cooperate to fix the problem.

(A) am responsible (B) are responsible (C) is responsible (D) both responsible
[A] 48. Taipei 101 used to be ___ building in the world.

(A) the tallest (B) tallest (C) tall No. 1 (D) first tall
[C] 49. Brianis ___than his brother Bruce.

(A) more smart and polite (B) smarter and polite

(C) smarter and more polite (D) more smart and politer
[D] 50. When someone thanks you for your help, you can answer:

(A) Yes, please. (B) No chance. (C) How funny. (D) My pleasure.
[B] 51. A friend needs help. What do you say to be sorry that you can’t help?

(A) I hope I can help. (B) 1 wish I could help.

(C) I’ll help next time. (D) I can’tdoit.
[B] 52. Which is the best answer when a shop clerk says, “Can | help you?”

(A) No, I can’t. (B) I’ll just look around.

(C) Never mind. (D) Go do your things.

[D] 53. Alan had had three jobs when he joined TPC. Therefore, TPC isAlan’s
(A) last employer. (B) second employer. (C) third employer. (D) fourth employer.

[C] 54. When a company has a new product, it hasto ___ it by advertising.

(A) provide (B) supply (C) market (D) purchase

[A] 55. Dina’s starting pay would have been higher if she had gone to graduate school. It means Dina ___.
(A) didn’t go to graduate school (B) got a high starting salary
(C) went to graduate school (D) didn’t get a job
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